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componen
the next 2 questiong.
Food chains are linked together in food webs, Use this food web to answer questions,
plants
F j
-;’Hmtltlsm
chark |
)
14.  Which organism is a predator of the turtle?
A. Sponges
B. Plants
C. Shark
(]

‘What would happeaﬁfﬁnnmnber of turtles if all the sharks die?
A. The numhet rt&l'wﬂl stay the same

| 18.  Labelt




(a) Draw three (3} lines to match the name of eacl
companent to its picture. g

L Battery T

l Bulb \

17

(]

switch and bulb to create an electric circuit diagram.

S

(b) Connect the symbols of a battery,
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of reaction
i
s happening in the
@ pictur
LT

10. which type
Nnulralisaliun
. f_on'rb'.lstir_‘ln
h-l C. preezing
D. i‘.vaporatian
11. which picture shows a chemi
cal
change?
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aeneWﬂb“’ gnergy resources generg
te glo
Ctricity

10
which patural resource Is being used

sed |n
thﬂ DictUrn?

A, Wave
B. wind
c. Biofuel
p. Tidal

The graph sh
graph shows three ways the UK make
. s electricit
Y.
(4]

2.
which percentage of electricity does Bi
0mass mak
e? =

__‘: A. 1 i
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I
he circuit in the diagram does not work
ork.

Which component is missing?

(4]
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Total




2 The class carried out an investigatio

N about burning candles
They recorded their results in the t

under jars of different sizes.

able below,
Time candle |
Size of jar burned
(seconds)
Small 11
Medium 17
Large 25

Describe what happened to the time the candie burned as the size of the jar increased.

(4

(4]
4]

23 Food chains are linked together in food webs.




